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MONDAY – Add/Subtract Decimals Review
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SOL Review HW #2
TUESDAY – Probability Review
2	
[image: Macintosh HD:Users:jtownsend:Desktop:Screen Shot 2014-12-09 at 10.14.41 AM.png]If the following marbles were in a baggie and you pulled one out without looking, what is the probability that you would pull out:

				a) light marble = _________________

				b) dark marble = _________________

				c) a striped marble = ______________

				d) a round marble = _______________


Please place the fractions on the number line (hint: place 0 and 1 first!)
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WEDNESDAY – Equivalent Measurements Review

1 foot = ____ inches	1 yard = ____ feet

1 cm = ____ mm		1 kg = _____ g

1 lb = ____ oz.
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10. Zach had 64 ounces of soda. He poured 8 ounces into each
of 5 glasses. How much soda was left over?
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Test Practice
THURSDAY
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image6.png
(j In the bag there are ten candy bars. Five of them have nuts.
t s the probabilty of getting a candy bar that does not have nuts?

2

1Fyou roll a dice, what i the probabilty of getting a number less
than one?

3 What i the probability that it wil rain tomorrow?

4 What i the probability of ot having homework tonight?
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Cirdee all of the following that are true.

40 am = 4 meters

60in.

sf
45mm=45am

4pints = 8 cups

8 quarts = 2 gallons.
49.=4,000 kg
2oz=30h.
3,5000=35kg
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Jake is spinning this spinner one time.

Show the probability of spinning the letter C on the number line below by writing an X in the
blank under the number line.
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45¢c
Use the grids to help you find the sum of
2.75and 2.5.
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Solve each of the following.
1 45-127 2 5672-89

6394-23 . 1284464

5. Sophia has §20. She buys a hair band for $3.99, gum for
$1.29, and a brush for $6.75. How much change will Sophia
receive?
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3. Find the sum of twelve and fourteen hundredths and eight
and nine tenths.

4. Find the difference of sixty-four and ninety-four thousandths
and forty-seven and eight tenths.

5. Alibrary wants to buy a new painting that costs $989.99. So
far, the library has collected $311.25 in donations. They had a
fundraiser and raised $212. How much more money does the
library need to buy the painting?
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A bag contains 1 red ball and 9 blue balls. A ball is chosen at random from the bag. Which of the
arrows A, B, C or D shows the best position on the probability line for the event 'The ball is red'?
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